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Show your work! No calculators! Please draw a | box | around your answers!
Please do not write on your desk!

1. (3 x 2 =6 pts.) Suppose that a- (b x ¢) = 7. Find

(a) a-(cxb)= —"F
aAd gxg=-(axs)

() (axb)-b =0
a9 gxb is perpenaicudor fo b

(@ a(@broxe = Q-CQexg) +Q-(er&)
= g (exa)+Q - (exg)
= g +0O =14
2. (4 x 1 =4 pts.) Determine whether the given statements in Cartesian 3—space are true or false. Indicate

your answers by circling TRUE or FALSE. No explanations required.

(a) TRUE /{FALSEJ)Two lines perpendicular to a third line are parallel.

(b) TRUE /Two planes perpendicular to a third plane are parallel.

(C)ETRUE) / FALSE A plane and a line either intersect or are parallel.

(d) TRUE / Three points always determine a unique plane.



3. (4 pts.) Find the distance between the given lines.
Li:z=-1+4+2t,y=—-t,z2=3+3¢
Ly:z=4—-4s.y=—-3+4+2s5. 2= —6s
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4. (4 pts.) Find an cquation of the plane that passes through the line of intersection of the planes z+2y+z = 5
and 2z +y — z = 7, and is perpendicular to the plane 3x — 2y + 2z = 4.
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QC«%QS:5 X=3,4y=1.
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5. (4 pts.) Find parametric equations for the path of a particle in 3—space that moves around the unit circle
in the ry—plane twice in a clockwise direction.
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